
�� 2416S  �����405MM

1 / 25�



�� 2416S  �����405MM

2 / 25�



�� 2416S  �����405MM

<Y�# 2017/11/02

5� 1 / 3

�mJ��e��

�
�� ���� �� 
� �� N/O 	�1 	�2 ��

001 211361-5 gR 6305LLB 1

002 253888-9 F0B 25 1

003 254032-1 +\j 5 1

004 321645-4 ��             F/2416S 1

005 164700-7 ��|           F/2416S 1 *

005-1 143565-0 SAFETY COVER COMPLETE < 1

006 224219-9 ! [ 1

007 911381-6 }> M6X60 4

008 257104-1 E 22            F/2416S 1

009 224218-1 � [ 1

010 251680-7 ?@}>M10X25F/12N,14,16S 1

011 342666-3 ��u           F/2416S 1

012 924306-1 r}> M6X10 1

013 421163-3 �6�C/416771-3 F/2416S 2 *

013-1 416771-3 �               F/2416S O 2

014 911309-4 }> M6X10 1

015 257105-9 E 6 1

016 231240-1 v
c�7 1

017 321682-8 (�L           F/2416S 1

018 524750-8 �.X           F/2416S 1

    C10 654020-2 oW�X CB-5 2

    C20 654502-4 -%� P-2 2

019 911938-3 }>M5X85 2

020 343299-7 �`�       F/2412N,14,16S 1

021 211066-7 gR 6200LLB 1

022 213051-6 hn610      F/1804N,3501N 1

023 514880-3 72�           F/2416S 1

    D10 INC. 21,22,24

024-1 241515-0 �`92     F/2412N,14NB,16S 1

025 253887-1 F0B 15 1

026 211211-4 gR 6302LLB 1

027-1 157822-0 tT�           F/2416S 1 *

    C10 267039-8 '04 32 1 *

    C20 213513-4 �X39           F/HK1820 1 *

027-2 151829-8 tTb           F/2416S X 1

    C10 212104-8 ]CgR 1212    F/9030 1

    C20 213513-4 �X39           F/HK1820 1

    C30 213561-3 �X 42 1

    C40 267039-8 '04 32 1

028 256643-8 U7 1

029 253022-1 �0B8 C/267248-9 1

030 164699-6 ��XC165276-7  F/2416S 1 *

030-1 165276-7 ��X           F/2416S S 1

031 253022-1 �0B8 C/267248-9 1

032 961018-5 :QX E-5 1

033 961105-0 qXS-25 1

034 221730-2 }stT53       F/2416S 1

035 315636-5 gR�           F/2416S 1



�� 2416S  �����405MM

<Y�# 2017/11/02

5� 2 / 3

�mJ��e��

�
�� ���� �� 
� �� N/O 	�1 	�2 ��

036 181976-1 �
N           F/2416S 1

    D10 INC. 45

038 651128-3 i���  F/2416S,9005B,06B 1

039 911113-1 H�}> M4X10 1

040 652014-1 }>M4X8 1

041 855032-0 {K 2416S 1 *

041-1 851469-9 NAME PLATE 2416S X 1

042 953106-2 �p�0-5 4 *

043 281207-9 Z�             C/281216-8 1 *

043-1 281216-8 �               F/MT240 O 1

044 256012-3 U6                F/LC1230 1

045 181976-1 �
N           F/2416S 1

    D10 INC. 36

046 911148-2 }>M4X25 4

047 911273-9 }>M5X50 2

048 911253-5 }>M5X30 1

049 911211-1 }> M5X12 2

050 284010-7 d&	_     F/2412N,14,16S 1

051 263002-9 �6U 4 1

052 181047-4 oW CB-154 1

053 643650-4 oW�_ 6.5-13.5 2 *

053-1 643650-4 oW�_ 6.5-13.5 O 2

054-1 157752-5 72�C/157753-3 F/2416S 1 *

054-2 157753-3 72�         F/2416S X 1

    C10 643653-8 oW� 6.5-13.5 2

    C20 913206-0 k�}> M5X8 2

    D10 INC. 51

055 662551-7 �. 2.00-3-5.0 1

056 682507-4 �.)F/ 12-200 1

057 911131-9 }>M4X18  C/911133-5 2

058 687005-3 $�)P 1

059 681002-1 9D0B 2

060 951163-4 c�U5-20 1

061 272021-4 S�120     F/2414NB,LC0700 1

062 911451-1 }>M8X30 2

063 331252-5 GA             F/2416S 1

066 265201-9 ?@}> M10X25 1

068 265201-9 ?@}> M10X25 1

069 343422-4 Q�M           F/2416S 1

070 942151-2 c�wX 6 1

071 924316-8 r}> M6X15 1

072 342759-6 )*L           F/2416S 1

073 961104-2 qX S-24 1

074 331251-7 / 24            F/2416S 1

075 931302-2 ?@}O M6 1

076 942151-2 c�wX 6 1

077 922317-0 H.S.H.}> M6X14 1

078 231569-5 v
c� 30      F/2416S 1



�� 2416S  �����405MM

<Y�# 2017/11/02

5� 3 / 3

�mJ��e��

�
�� ���� �� 
� �� N/O 	�1 	�2 ��

079 421277-8 lVL           F/2416S 3

080 911349-2 }> M6X28 3

082 961104-2 qX S-24 1

083 911316-7 }> M6X14 1

084 342678-6 ,�x           F/2416S 1

085 342679-4 f�M          F/2416S,14B 1

086 931402-8 ?@}u M8 1

087 942201-3 c�w� 8 1

088 253752-4 '�w�8 1

089 951066-2 c�U3-18 1

090 321680-2 }> M8 1

091 253731-2 '�w�8     F/LC1230,0700 1

092 253731-2 '�w�8     F/LC1230,0700 1

093 164710-4 3�             F/2416S 1

094 311949-2 f�k��   (=322209-7 18}O) 1

095 282010-1 ^� C282016-9   F/LC1210 1 *

095-1 282016-9 ^"             F/LC0700 < 1

096 322240-3 /�}> 1

097 819064-1 ~a{K 1

400 792261-3 1IzT� 405-NO.10 1 *

400-1 A-23553 CUT OFF WHEEL 405-NO.10 O 1 *

400-2 A-01367 CUT-OFF WHEEL 405 O 1

401 782210-8 ;y�
 17 1

905 322209-7 f�18}O (=311949-2 k��) 1


